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A Level Business Component 1

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 3283 3.6 0.7 4 90.2 100

2a 3268 1.9 1.1 3 64.9 99.5
2 b 3282 4.4 1.4 6 72.7 99.9
3a 3277 0.8 0.4 1 80.2 99.8
3 b 3275 1.4 0.8 2 71.1 99.7
3 c 3233 1.7 0.6 2 86 98.5
3 d 3174 3.9 1.5 6 64.3 96.7
4 a i 3269 1 0.2 1 96.1 99.5
4 a ii 3261 0.7 0.5 1 66.1 99.3
4 b 3267 1.5 0.7 2 75.9 99.5
4 c 3271 6 2 10 60.2 99.6
5 3262 6.4 1.9 10 63.9 99.3

6 a i 3279 0.9 0.3 1 89.8 99.8
6 a ii 3271 0.8 0.4 1 78.3 99.6
6 b 3267 4.6 1.4 6 76.8 99.5
7 a i 3263 1.8 0.6 2 88.4 99.4
7 a ii 3237 1.6 0.6 2 79.4 98.6
7 b 3210 3.1 1.1 4 78 97.8
7 c 3220 4.5 1.3 6 74.2 98
8 3267 7.2 1.6 10 71.8 99.5
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A Level Business Component 1

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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3. (d)  Evaluate the impact of the change in net profit and net profit margin on Water 
Sports.  [6] 


Band 
AO1 AO2 AO4 


2 marks 2 marks 2 marks 


2 


2 marks 
Good understanding of net 
profit and net profit margin 


2 marks 
Good application of the 
changes in net profit and 
net profit margin in the 
context of Water Sports 
 
Candidate uses the 
information in the case 
materials to support the 
answer  


2 marks 
Good evaluation of the 
impact of the changes in 
the calculations on Water 
Sports 
 
A clear judgement is made 
that is supported 


1 


1 mark 
Limited understanding of 
net profit and/or net profit 
margin 
 
Superficial statements are 
made  


1 mark 
Limited application is made 
 
The response is mainly 
theoretical with only minor 
reference made to Water 
Sports or to the 
calculations  


1 mark 
Evaluation is limited  
 
Judgements are 
underdeveloped or 
unsupported 
 
Evaluation tends to be 
asserted rather than 
explained 


0 0 marks 
No valid understanding  


0 marks 
No valid application  


0 marks 
No valid evaluation  
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Indicative content:  
 
• The net profit has decreased by £24 250 (from £34 500) (a fall of 70.29%).  
• The net profit margin has increased by 3.08%/3.1% (from 4.8% in 2020).  
• Apply OFR for 3 (a) (ii) and (iii) 
 
• The net profit has decreased substantially over the two-year period, but much depends on 


whether the owners anticipated this given the increase in competition. The significant decline in 
net profit can have a devastating negative impact on Water Sports, especially if they cannot cut 
their costs or compete effectively. The fall in net profit follows a three-year trend and therefore, if 
this pattern continues, the effect on Water Sports could be disastrous. The business may 
struggle to meet rent payments or pay its staff, which are its biggest expenses.  


 
• The net profit margin has improved over the two-year period, which is positive, in light of the fall 


in the net profit. The change in the net profit margin suggests that Water Sports has been able to 
control their expenditure slightly better relative to their sales revenue, compared to the previous 
year. The improvement in this profitability ratio may be encouraging, but it can be considered to 
be relatively low and no information is provided on previous net profit margins apart from 2020, 
making further interpretation difficult.  


 
• Overall, the changes in the calculations may be regarded as negative, given the risk of net profit 


falling further and perhaps resulting in an inability to meet operational costs, suggesting an 
overall negative impact on the future of Water Sports. Small comfort is provided by the 
improvement in the net profit margin and if the business can make further improvements to their 
efficiency levels by controlling expenses and increasing revenue, then more of a positive impact 
may result in the future performance of Water Sports.  


 
Credit any other valid point. 
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Text Box

The candidate demonstrates some understanding of net profit but not of net profit margin. There is limited application to the context in terms of the change to net profit (OFR). There is no evaluation. The candidate is awarded 2 marks in total (AO1  - 1, AO2  - 1, AO4  - 0). 
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Sticky Note

The candidate demonstrates good knowledge of net profit and net profit margin. The case study and the business context are used well throughout the response. The candidate makes informed judgements about the impact of the change in performance on Water Sports throughout the response. The candidate is awarded full marks (AO1 – 2, AO2 – 2, AO4 – 2).  
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£


Revenue 130 000


Gross profit 72 450


Advertising 10 000


Labour 30 200


Maintenance 2 000


Rent 20 000


3. Sink or swim


Water Sports is a well-established business selling a range of sporting equipment for surfing,
swimming and canoeing. It trades from a rented hut on a beach in a popular tourist destination
on the Cornish coast. The business has faced increased competition and falling profits over
the last three years.


In 2020, Water Sports made a net profit of £34 500 and its net profit margin was 4.8%. Below
is an extract of Water Sports’ 2021 profit and loss account (income statement).


• Advertising is paid monthly.
• Rent is paid monthly in advance.
• Labour includes overtime paid to permanent staff in busy periods.
• Maintenance includes a monthly charge plus a charge per call out.


Using the information above:
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(d) Evaluate the impact of the change in net profit and net profit margin on Water Sports. [6]


Additional space for Question 3(d) only.   . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .






































 


© WJEC CBAC Ltd 12 


5.  Evaluate the impact on Armani of using various distribution channels.  [10] 


Band 
AO1 AO2 AO4 


3 marks 3 marks 4 marks 


3 


3 marks 
Excellent understanding 
of distribution channels  
 
Clear knowledge of 
different distribution 
channels 


3 marks 
Excellent application of 
distribution channels to 
Armani 
 
Information from the data 
is consistently used  
 
Clear and accurate 
examples are used for 
different distribution 
channels 


4 marks 
Excellent evaluation of the 
impact on Armani of using 
various distribution channels 
 
Clear reference to the data 
and context to support 
argument  
 
Relevant judgements are 
made with qualifying 
statements used to build an 
argument  
 
Evaluation is well-balanced 
and well-reasoned 


2 


2 marks 
Good understanding of 
distribution channels  
 
Characteristics / features 
of different distribution 
channels are identified  


2 marks 
Good application of 
distribution channels to 
Armani 
 
Good use of the case and 
response is in context of 
Armani 


2-3 marks 
Good evaluation of the impact 
on Armani of using various 
distribution channels 
 
Evaluation is reasonably well-
balanced 
 
A clear judgement is made 
that is supported  


1 


1 mark 
Limited understanding of 
distribution channels  
 
Superficial statements 
are made 


1 mark 
Limited application of 
distribution channels to 
Armani 
 
The response is mainly 
theoretical with the limited 
use of examples from the 
case 


1 mark 
Limited evaluation of the 
impact on Armani of using 
various distribution channels 
  
Evaluation is limited and is 
likely to be one-sided  
 
Judgements are 
underdeveloped or 
unsupported  


0 0 marks 
No valid understanding  


0 marks 
No valid application  


0 marks 
No valid evaluation  
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Indicative content:  
 
• A distribution channel is the method used to get goods to the final customer. Traditional distribution 


channels use intermediaries and a traditional route to the final customer is ‘manufacturer – 
wholesaler – retailer – customer’. Direct distribution is understood to be ‘manufacturer – customer’. 


• Businesses can distribute their goods/services through physical retail shops and websites, or through 
magazines/catalogues and direct mail or email.  


• Armani operates a multi-channel distribution model by using a combination of distribution channels 
such as selling through retailers, its own stores/website and other online platforms. This allows 
greater selling opportunities, greater awareness of the Armani brand and easier accessibility and 
availability for its customers.  


• Distribution via retailers – as a popular brand, the Armani label is likely to be in demand from retailers 
who seek to stock Armani’s products. Larger retailers in particular, such as department stores and 
specialist clothing retailers, are likely to place relatively large orders. This means that Armani’s 
distribution costs are lower and are likely to be able to offer retailers incentives and discounts on their 
larger orders to encourage them to stock more products. By Armani having presence in physical 
retail shops, it is likely to be able to compete more easily with other fashion brands also on display. 
However, retailers may have some influence over Armani in terms of choosing what they stock and 
how much of it they dedicate to their retail space, meaning Armani may not have full control over its 
product range, prices and display of its merchandise in retailers. Much of this will depend on the 
contracts it agrees with retailers.  


• Direct distribution via its own retail stores – Armani can control its own prices and product ranges in 
its own stores but will have to finance the operational and long-term costs of having its own retail 
outlets. Armani can sell its exclusive products in its stores without the direct competition of rival 
businesses and might attract customers who want to experience a wide range of Armani products in 
the same place.  


• Direct distribution via its own website – Armani can fulfil direct orders from customers who buy from 
its own website from central fulfilment centres around the world. This can reduce the costs of having 
as many retail stores but increase central storage and staffing costs to meet these orders. Some 
retailers or partners may have issues with Armani fulfilling their own orders, especially if it offers 
lower prices than retailers or if there are price controls on the products that they sell. Armani can also 
collect information about customers that buy directly from them in order to offer incentives and 
discounts through email marketing campaigns.  


 
Possible themes for evaluation:  
• Armani’s multi-channel distribution model seems to be working well for them in terms of facilitating a 


dominant presence around the world. Without such wide distribution and availability of its products, it 
might not have as great a brand name and awareness as it has achieved.  


• Armani’s distribution channels allow customers to buy in a place and method that is likely to suit their 
preferences. This undoubtedly has been an expensive undertaking over many years in order to 
achieve and is likely still to incur high costs in order to stay visible and relevant in a highly 
competitive industry.  


• Relying on just one distribution channel would have perhaps meant that Armani would not have 
achieved its current status and awareness, especially in retail stores or online platforms that it does 
not own as other fashion brands and products would be in direct competition for shelf and screen 
space.  


• The impact of using various distribution channels on Armani is likely to be substantially positive, as 
without its current model, it most probably would not be as competitive as a business.  


• Despite their relative success to date, Armani must ensure that it uses distribution channels that 
remain current and responsive with customer demand, especially as it operates in a highly 
competitive industry.  


• Armani seem to be maximising the advantages from each of the distribution channels it uses to sell 
its products, but at the same time, this adds complexity to its business model and operations, which 
inevitably adds costs. 


 
Credit any other valid point. 
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5.  Evaluate the impact on Armani of using various distribution channels.  [10] 



Band 
AO1 AO2 AO4 



3 marks 3 marks 4 marks 



3 



3 marks 
Excellent understanding 
of distribution channels  
 
Clear knowledge of 
different distribution 
channels 



3 marks 
Excellent application of 
distribution channels to 
Armani 
 
Information from the data 
is consistently used  
 
Clear and accurate 
examples are used for 
different distribution 
channels 



4 marks 
Excellent evaluation of the 
impact on Armani of using 
various distribution channels 
 
Clear reference to the data 
and context to support 
argument  
 
Relevant judgements are 
made with qualifying 
statements used to build an 
argument  
 
Evaluation is well-balanced 
and well-reasoned 



2 



2 marks 
Good understanding of 
distribution channels  
 
Characteristics / features 
of different distribution 
channels are identified  



2 marks 
Good application of 
distribution channels to 
Armani 
 
Good use of the case and 
response is in context of 
Armani 



2-3 marks 
Good evaluation of the impact 
on Armani of using various 
distribution channels 
 
Evaluation is reasonably well-
balanced 
 
A clear judgement is made 
that is supported  



1 



1 mark 
Limited understanding of 
distribution channels  
 
Superficial statements 
are made 



1 mark 
Limited application of 
distribution channels to 
Armani 
 
The response is mainly 
theoretical with the limited 
use of examples from the 
case 



1 mark 
Limited evaluation of the 
impact on Armani of using 
various distribution channels 
  
Evaluation is limited and is 
likely to be one-sided  
 
Judgements are 
underdeveloped or 
unsupported  



0 0 marks 
No valid understanding  



0 marks 
No valid application  



0 marks 
No valid evaluation  
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Indicative content:  
 
• A distribution channel is the method used to get goods to the final customer. Traditional distribution 



channels use intermediaries and a traditional route to the final customer is ‘manufacturer – 
wholesaler – retailer – customer’. Direct distribution is understood to be ‘manufacturer – customer’. 



• Businesses can distribute their goods/services through physical retail shops and websites, or through 
magazines/catalogues and direct mail or email.  



• Armani operates a multi-channel distribution model by using a combination of distribution channels 
such as selling through retailers, its own stores/website and other online platforms. This allows 
greater selling opportunities, greater awareness of the Armani brand and easier accessibility and 
availability for its customers.  



• Distribution via retailers – as a popular brand, the Armani label is likely to be in demand from retailers 
who seek to stock Armani’s products. Larger retailers in particular, such as department stores and 
specialist clothing retailers, are likely to place relatively large orders. This means that Armani’s 
distribution costs are lower and are likely to be able to offer retailers incentives and discounts on their 
larger orders to encourage them to stock more products. By Armani having presence in physical 
retail shops, it is likely to be able to compete more easily with other fashion brands also on display. 
However, retailers may have some influence over Armani in terms of choosing what they stock and 
how much of it they dedicate to their retail space, meaning Armani may not have full control over its 
product range, prices and display of its merchandise in retailers. Much of this will depend on the 
contracts it agrees with retailers.  



• Direct distribution via its own retail stores – Armani can control its own prices and product ranges in 
its own stores but will have to finance the operational and long-term costs of having its own retail 
outlets. Armani can sell its exclusive products in its stores without the direct competition of rival 
businesses and might attract customers who want to experience a wide range of Armani products in 
the same place.  



• Direct distribution via its own website – Armani can fulfil direct orders from customers who buy from 
its own website from central fulfilment centres around the world. This can reduce the costs of having 
as many retail stores but increase central storage and staffing costs to meet these orders. Some 
retailers or partners may have issues with Armani fulfilling their own orders, especially if it offers 
lower prices than retailers or if there are price controls on the products that they sell. Armani can also 
collect information about customers that buy directly from them in order to offer incentives and 
discounts through email marketing campaigns.  



 
Possible themes for evaluation:  
• Armani’s multi-channel distribution model seems to be working well for them in terms of facilitating a 



dominant presence around the world. Without such wide distribution and availability of its products, it 
might not have as great a brand name and awareness as it has achieved.  



• Armani’s distribution channels allow customers to buy in a place and method that is likely to suit their 
preferences. This undoubtedly has been an expensive undertaking over many years in order to 
achieve and is likely still to incur high costs in order to stay visible and relevant in a highly 
competitive industry.  



• Relying on just one distribution channel would have perhaps meant that Armani would not have 
achieved its current status and awareness, especially in retail stores or online platforms that it does 
not own as other fashion brands and products would be in direct competition for shelf and screen 
space.  



• The impact of using various distribution channels on Armani is likely to be substantially positive, as 
without its current model, it most probably would not be as competitive as a business.  



• Despite their relative success to date, Armani must ensure that it uses distribution channels that 
remain current and responsive with customer demand, especially as it operates in a highly 
competitive industry.  



• Armani seem to be maximising the advantages from each of the distribution channels it uses to sell 
its products, but at the same time, this adds complexity to its business model and operations, which 
inevitably adds costs. 



 
Credit any other valid point. 
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Sticky Note

The candidate demonstrates good knowledge of distribution channels, but the features thereof are not excellent and there is no reference to, for example, e-commerce or direct distribution. The candidate makes limited reference to the case study and the business context is not explicit, making the response mainly theoretical. The candidate makes limited evaluation in respect of the brief recognition of the time-related cost effectiveness of various distribution channels. The candidate is awarded 4 marks in total (AO1 – 2, AO2 – 1, AO4 – 1). 	
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Sticky Note

The candidate demonstrates excellent knowledge and understanding of various distribution channels throughout their response. The candidate makes excellent use the case study and business context well and this is consistent throughout their response. The candidate makes a good evaluation of the impact of distribution channels and is reasonably well supported. However, the evaluation is not well-reasoned and well-balanced and therefore is does not quality for Band 3. The candidate is awarded 9 marks in total (AO1 – 3, AO2 – 3, AO4 – 3). 
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SECTION B


5.	 Place 
 
	 Armani is a famous Italian fashion brand known for designing, manufacturing, distributing 


and retailing luxury clothing and accessories such as jewellery, eyewear, fragrances and 
cosmetics. Armani uses a multi-channel approach to distribute its products, including its own 
stores and website and through other retailers. The Armani brand has a dominant presence in 
many countries around the world. 


	 Evaluate the impact on Armani of using various distribution channels. 	 [10] 
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7. Managing productivity at Tread Carefully


Tread Carefully is an established business that produces and supplies tyres to a variety of
major vehicle manufacturers in the UK and Europe.


In 2019, the owners calculated the capacity utilisation of the business to be 84%. Production
levels for 2020 have averaged 32 400 tyres a month. The maximum production capacity of the
factory is 450 000 tyres a year.


Over the last three years, Tread Carefully has doubled its number of employees to 190 people.
Recentl , em lo 


· 
i a · r dis 


· 
lion with t 


· 
out the tack


communication with them as the business has grown Empie ees also feet that t e1r views are
not considered and their responsibilities are unclear.


The owners want to introduce management by objectives (MBO) as a method to improve
their approach to setting targets for employees and to form part of its new staff appraisal
system. The owners also want managers to be more aware of how they are managing their
staff and have recently paid a consultant to deliver a session on improving performance, which
included information on McGregor's theory X and theory Y.


(a) (i) Calculate the capacity utilisation for 2020. [2] 


.'3..i...1,4-:C).9. .. � .. \�. ::-... 3��- ,.i9.9. ...... --···- .. 


'""3<gi·,'3(}�-=---o·�·�-�� )<\<:;o .... � ... -.:.&.�.�.!:t"/� 
---�·so·,·oo C) .. 


.. . . ...... == ··!i;·.-�'/o·· ······· .... · .. ···· ............. -·· ...... -····-·"· .. .
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7. (c)  Explain the advantages and disadvantages to Tread Carefully of using 
management by objectives (MBO).  [6] 


Band 
AO1 AO2 AO3 


2 marks 2 marks 2 marks 


2 
2 marks 


Good understanding of 
MBO 


2 marks 
Good application of 
MBO to Tread Carefully 


2 marks 
Good analysis of MBO 
 
Clear lines of reasoning  


1 


1 mark 
Limited understanding of 
MBO 


1 mark 
Limited application of 
MBO to Tread Carefully 


1 mark 
Limited analysis of MBO 
 
Analysis may focus on one 
side of the argument 
 
Superficial analysis 


0 0 marks 
No valid understanding  


0 marks 
No valid application  


0 marks 
No valid analysis  
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Indicative content:  
 
Advantages of MBO 
• Objectives are defined so that the management and workers agree to the objectives and 


understand what they need to do in order to achieve them. This aids communication between 
managers and workers and there is more chance of objectives being achieved if they are agreed 
and explained how they are going to be achieved.  


• It involves the breaking down and subdivision of the aims and goals of an organisation into 
targets and objectives for divisions, for departments, for managers and finally for workers. This 
ensure that everyone is involved in working towards achieving the aims and objectives of the 
organisation, which could promote team working and cooperation.  


• By including employees with the goal setting and the course of action to reach those objectives, 
they are more likely to be motivated and carry out their responsibilities to the best of their 
abilities.  


• Improved management control of the organisation meaning managers know who is doing what 
and what they are supposed to be achieving. This can improve efficiency and communication.  


• Management by objectives allows managers and employees to be aware of their 
responsibilities. Managers and employees are aware of what they should be achieving and how 
their role fits in with organisational objectives.  


• It can motivate the workforce. When managers at all levels are involved in setting and agreeing 
objectives they will have a commitment to ensuring that objectives and goals are achieved. 
Involving all employees in the whole process of goal setting will give employee empowerment. 
This increases employee job satisfaction and commitment. 


 
Disadvantages of MBO 
• Management time is spent on the process of setting objectives rather than managing the 


organisation. MBO can therefore be time consuming for managers and employees, which could 
reduce productivity as the time could be spent elsewhere.  


• The ever-changing business environment or context in which the goals are set may change over 
time making the objectives unrealistic. If objectives are not reviewed or updated in a timely 
manner then they may not remain relevant.  


• Demotivation and breakdown of working relationships. If all levels of hierarchy are not involved 
in setting objectives, then they may not be committed to them. Employees and managers need 
to genuinely be involved in agreeing the objectives and know exactly what is required of them. If 
not, this can lead to confusion, resentment and demotivation.  


• Objectives can be seen as a form of management control whereby employees are restricted to 
working towards only certain objectives that may be prescribed to them. Managers may monitor 
and review progress towards objectives in a controlling, rather than supportive, way.  


• Managers may be too concerned with working towards and achieving the objectives set and this 
restricts their vision and ability to fully appreciate the bigger picture. Managers may focus on 
achieving short term objectives at the expense of considering longer-term goals.  


 
Possible points for application: 
• Workers and managers can agree targets to achieve higher levels of capacity utilisation.  
• Growth in the workforce means that communication and motivation levels might have 


diminished. MBO might be able to improve these.  
• Workers are dissatisfied, their views are not considered and their responsibilities are unclear. 


MBO might be able to reduce these problems.  
 
Credit any other valid point.  
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7. Managing productivity at Tread Carefully


Tread Carefully is an established business that produces and supplies tyres to a variety of
major vehicle manufacturers in the UK and Europe.


In 2019, the owners calculated the capacity utilisation of the business to be 84%. Production
levels for 2020 have averaged 32 400 tyres a month. The maximum production capacity of the
factory is 450 000 tyres a year.


Over the last three years, Tread Carefully has doubled its number of employees to 190 people.
Recentl , em lo 


· 
i a · r dis 


· 
lion with t 


· 
out the tack


communication with them as the business has grown Empie ees also feet that t e1r views are
not considered and their responsibilities are unclear.


The owners want to introduce management by objectives (MBO) as a method to improve
their approach to setting targets for employees and to form part of its new staff appraisal
system. The owners also want managers to be more aware of how they are managing their
staff and have recently paid a consultant to deliver a session on improving performance, which
included information on McGregor's theory X and theory Y.


(a) (i) Calculate the capacity utilisation for 2020. [2] 
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Sticky Note

The candidate demonstrates limited understanding of MBO by recognising that it is the use of objectives. The candidate does not use the case study or business context in their response. The candidate demonstrates limited analysis and does not directly connect the advantage/disadvantage of using MBO to Tread Carefully. 
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Sticky Note

The candidate demonstrates good understanding of MBO by referring to various features and characteristics of the concept. There is limited application to the case study and it is in respect of this skill that the response could be developed further. The candidate demonstrates clear lines of reasoning in their analysis for both the advantage and disadvantage of using MBO. 
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7. Managing productivity at Tread Carefully


Tread Carefully is an established business that produces and supplies tyres to a variety of
major vehicle manufacturers in the UK and Europe.


In 2019, the owners calculated the capacity utilisation of the business to be 84%. Production
levels for 2020 have averaged 32 400 tyres a month. The maximum production capacity of the
factory is 450 000 tyres a year.


Over the last three years, Tread Carefully has doubled its number of employees to 190 people.
Recently, employees indicated their dissatisfaction with their managers about the lack of
communication with them as the business has grown. Employees also feel that their views are
not considered and their responsibilities are unclear.


The owners want to introduce management by objectives (MBO) as a method to improve
their approach to setting targets for employees and to form part of its new staff appraisal
system. The owners also want managers to be more aware of how they are managing their
staff and have recently paid a consultant to deliver a session on improving performance, which
included information on McGregor’s theory X and theory Y.
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Turn over.


	


	


	


	


	


	 (c)	 Explain the advantages and disadvantages to Tread Carefully of using management by 
objectives (MBO). 	 [6]
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